GENERAL SCIENCE EXAM BASED EXPECTED QUESTIONS - SAMPLE PAPER-1

1.In the given diagram of flower structure, which part is represent in number10?

el AT & QU A0 IR #, HleT AT BEAT 10 7R F FidA e i &2

a) Receptable/ Jg0T
b) Ovule/ stalls

c¢) Ovary/ 38’

d) Sepal/@9er

Parts of a Flower

Stigma-,
Style -

Petal

Pollination Pollen -

tube
- Carpel

Reproduction
(Female)

Stamen Anther Ovary -
Reproduction L Filament Ovule -
(Male)
Receptacle
Sepal Generation of
Protection of flower organs
flower buds Stem

e Receptacle: The part of a flower stalk where the parts of the flower are attached.
e Sepal: The outer parts of the flower (often green and leaf-like) that enclose a developing
bud.
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e Petal: The parts of a flower that are often conspicuously colored.

e Stamen: The pollen producing part of a flower, usually with a slender filament
supporting the anther.

e Anther: The part of the stamen where pollen is produced.

e Pistil: The ovule producing part of a flower. The ovary often supports a long style,
topped by a stigma. The mature ovary is a fruit, and the mature ovule is a seed.

e Stigma: The part of the pistil where pollen germinates.

e Ovary: The enlarged basal portion of the pistil where ovules are produced.

o RARF: T Gol & oo & FEAT 56T el & BFEA I3 81 &

o JUCT Pol & TR BEA (AT &Y 3R AT & RE) S Teh fashreRiier welt
I B 2

o UG Th G & FEY S 3R fafdse &9 & @it g gl

o THE : WM UF Gol HT T, IMHAN W TH Idell el & AT TW H
TAST T gl

o T P : TEAT & FEAT STgT WET &l i aiar &l

o TOTECE: T Fol I REAT Sellel ATl 3HSTHN| BRI HFAT Ueh el Aol A1
A AT ¢, Teh holsh GaRT Fad FI| GRYSFT 33T Th & g, 3R
gRYed 37SRR Teh &It gl

o gfcer: Rffca @1 g fowar Ser e IJFRa g &

o 37STRIT: MAfee FT 9T 3 STl 1T SfeT 5o FT 3cureat fohar Sfrar g

2. The process of the transfer of pollen grains from the flower of one plant to the stigma of
the flower of another plant of the same species is known as

Teh GIY & el d TRET ATl & FEACRUT T Gishar 3T Jollid & g@x dier &
el & Foich & ® H ST ST

(a) Cross pollination/ pIE YITTOT

(b) Fertilisation/ faS=reT

(c) Self pollination/ ¥F YITT0T

(d) None of the above/ 3WRad & & &5 o 7T

The cross-pollination is defined as the deposition of pollen grains from a flower to the
stigma of another flower. Commonly, the process is done by insects and wind. By insects,
the process takes place in several plants like strawberries, grapes, raspberries, tulips, apples,
plums, pears, daffodils, and more. Pollination by the wind is observed in different grasses,
maples trees, dandelions and catkins.

HIF-I0T T Th Tl gAY Dol & holeh oddh AT 3T & 9T & & H
afvenfa forar ar=r 81 3mAAR 9T, gfshar &gt AR gar ganry fr S g1 s
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3R 9gd $© H gl ¢ &1 garT Rumr fAffies ara, Ader & 93, Aguolt R

Cross-pollination
pollen 1. Pollen from stamens sticks to a bee )
grains as it visits a flower to collect food. 3. Pollen on the bee sticks

to a pistil of a flower
on the other plant.

& A\
1~ \
{\a i
i pollen ?‘
2. The bee travels "b

— to another plant
of the same type.

) . {

3. In the given diagram of female reproductive system, which part represent the letter D and
E?

AR Tt YoTell & U v 3INW #H, i a7 fexar b 31K E 381 &1
gfafafca #dar g2

a) Ovary, fallopian tube/ 31, o s
b) Oviduct, Ovary/ %EIEIT%??[, 3T

c) Uterus, Cervix/ 1312, 1312y afrar

d) Cervix, Vagina/ T Ifar, A
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Fallopian Tube Uterus Fundus Uterine Tube

Endometrium

Myometrium

Cervix

4. The part of the digestive system where no digestion takes place is

el dF &1 8T S8 $Ig Ui gy 8T &
(a) ileum/ Sfore

(b) stomach/3THT/I

(c) mouth/ 31'5’
(d) oesophagus/ TaRKIH

Digestion refers to the process where the food consumed by us is processed and broken
down into smaller parts that can be absorbed by the body.

Of all the parts of the digestive system, the connecting link from the mouth to the
stomach is the oesophagus. It is a muscular tube that moves the partially digested food
from mouth to the stomach for further digestion.

Hence, the oesophagus is the part of the digestive system where no digestion occurs.
Oesophagus is the part of the alimentary canal where no digestion occurs. It shows
rhythmic contraction and relaxation called peristalsis which takes the food in the
downward direction.

Uree 3H GishaT T Hefdd Idl § STel §AR eaRT 3UsleT fohw 910 $iisial
AR fomar Srar § 3R i el # g Sar § S eRR ganT saanfya
forar ST @ g

are o & @l REE A @, {5 F 9T dh Helfacd fodh vEhIE §| g Th
ARG T TS § S 3 & g & fAv 3RS &9 & q2e ared et A
e @ 9T dF o S g

safolv, TAheTd 9Tdel dF &7 REAT § ST@l lg 9Irdel =Tgl aidll gl
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o TERKIE UTHACY eX T BEAT § STeT IS Uil 1¢1 g &1 Jg IRTearad
oATHh ANCY Hhdel 3R TS Y eRMcdr § S afsfer a ra dr fqer 7 &
ST B

Mouth

Breaks up food particles

Assists in producing
spoken language

5. Which of the following options given below represents the formula structure of saturated
compounds.

A fov v fArafaf@a # @ Sl a1 ey dqea ARt & FqF dT==T #
yiafafted s &
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(A)

H—C€=C—H

(B)

I\n/::
|
g)
= Nz

D@ H

H—C—C=C—H

H

SATURATED COMPOUNDS
VERSUS

UNSATURATED COMPOUNDS

Saturated compounds are

organic compounds that

have only carbon-carbon
single bonds

Have only single bonds
between carbon atoms

Have no pi bonds
between carbon atoms

Less reactive

Carbon atoms are sp3
hybridized

Have more hydrogen
atoms per carbon

Do not undergo
polymerization

More stable

Include alkanes and
cycloalkanes
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Unsaturated compounds are
organic compounds
containing at least one
double bond or triple bond
between carbon atoms

S EEEEEEEEEEEEEEEEDR
Have at least one double

bond or triple bond
between two carbon atoms

EEEEEEEEEEEEEEEEEEESR
Have pi bonds between
carbon atoms; one pi
bonds in alkenes, two pi
bonds in alkynes
EEEEEEEEEEEEEEEEEEER
Highly reactive
EEEEEEEEEEEEEEEEEEEN
Carbon atoms are either
sp2 or sp3 hybridized
EEEEEEEEEEEEEEEEENNE
Have a comparatively less
number of hydrogen atoms
per carbon atom

Undergo polymerization

Less stable

Include alkenes, alkynes,
and aromatic compounds
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6. Which of the following does not belong to the same homologous series?
fAefaf@d & @ Fld T & FATT @Il § FT 76T 82

a) CHa

b) CHe

C) C3Hs

d) CaHg

7. The name of the compound, [ CH; —CH; — CH,0] is
I T ATH, [CH3 -CH2 - CH20]§

a) Propanal/ 9TdeTel
b) Propanone/ STdTAleT
c) Ethanol/ 3J=iTel

d) Ethanal/ SqsTel

8. The heteroatoms present in [ CH3; —CH, —O— CH; —CH,Cl] are
[ CH3 —CH, —0— CH, —CHCI] F #is[g geieisd ¢
(i) oxygen 3fTerETSTeT (i) Carbon/ &hTeeT
(iii) Hydrogen/ BTS8Iolel (iv) Chlorine/ FelIIeT
(i) and (ii)
(i) and (iii)
(iii) and (iv)
(i) and (iv)

9. Which of the following represents saponification reaction?
efaf@d & & &l @1 Saponification Yfafshar &1 gfafafeca &ar g2

(@) CH,COONa+NaOH—29 5CH, +NaCO,

HoSO

(b) 2CH,COOH + C,H;OH—=—4
+ H,O

(©) 2CH,COOH + 2Na —» 2CH,COONa + H,
(d) CH,C00C,H; N2 3 cH COONa + C,H,OH

> CHyCOOC,H,

10. Ethanol reacts with sodium and forms two products. These are

AT W3TA & Ty gfafshar HTar g 3R e 3curg daar g1 T &
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a) Sodium ethanoate and hydrogen/ |IfSTH TAAITE 3R gI83IeTT
b) Sodium ethanoate and oxygen/ T3IH TAAITE 3T 3iTerediataT
c) Sodium ethoxide and hydrogen/ TSI TAFATSS 3R gEsIell
d) Sodium ethoxide and oxygen/ Bf3IH TAFATSS 3R TS

This reaction helps to show the acidic nature of ethanol. Hence, sodium ethoxide and
hydrogen are formed when ethanol reacts with sodium.

This reaction helps to show the acidic nature of ethanol. Hence, sodium ethoxide and
hydrogen are formed when ethanol reacts with sodium.

Ig giafshar seter &1 el g a1 R@e 7 #Ace e §1 safav, Afsas
TAFASs 3R EEsIed dd §e0d & o9 ST ASIA & a1y gfafshar &ar gl

2CH3CH,OH +2Na — 2CH3;CH,ONa + Hp

Sodium ethoxide is colorless in nature.
Hydrogen gas evolves as bubbles in this reaction.
It is an acid base reaction.

qQifsgA vUiFdArss Yhid # e B
g A 50 gfafkar # geger & &7 #F FRa g #
g T ufds 3mur gfafear &

11. Vinegar is a solution of

e teh faorae @

(a) 50% — 60% acetic acid in alcohol/50% - ST H 60% TATesH TiAs
(b) 5% — 8% acetic acid in alcohol/5% - RRTT H 8% URAfeeHh URAs

(c) 5% — 8% acetic acid in water/5% - 9Tl H 8% UHTceh UTHS

(d) 50% — 60% acetic acid in water/50% - 9Tell # 60% Uffes Tfds

Vinegar is the fermentate of distilled alcohol which is diluted to produce a colourless
solution of 5-8% acetic acid in water with pH of about 2.4. It is used in cooking, baking,
pickling etc.

AT BRces ehigd & Fvaed § S 99T 2.4 0T & T gl H 5-8%
tfafesw il & WEA TATYT &l 3cdiGed el & folT Idell giar gl SR
YT WIAT Yehley, STehaT, 3R 311fe &7 forar Srar g1

12. The correct electron dot structure of a water molecule is
Teh Ulell o 3] T HET Selohelel Sic AT §
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AT — T
@ HEYOD! () EHOOH
(© HEHOEH d) H—O0—H
Answer(c)

13. Which of the following are correct structural isomers of C4H1o ?

fAfaf@ad & O 9 c4H10 F TE TIaeTcAs IBAHT &2

N T
. H—?—?—?—%—H i, H—(IZ—(I:—(IZ—H
H HH H IL C—H
I
H
T I
iii H_?‘?ﬁcl:_H ' H_cl:_C—H
IV.
H H—(I:—H H H—CIJ—IC—H
H H H
a) (i) and (iii)
b) (ii) and (iv)
c) (i) and (ii)

d) (iii) and (iv)

14. In the following reaction, alkaline KMnOj acts as

rafaf@a wiafsar &, e80T KMNO4 & T H T &dT §-

Alkaline KMnO4 + Heat

CH,—CH,—OH — CH,—COOH

a) Reducing agent/ 39T hch

b) Oxidizing agent/ 3TEFEIEUT Tsic

c) Catalyst/ 39

d) Dehydrating agent/ faoTellaiuT Tale
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Alkaline KMnO4 acts as an oxidising agent as it oxidises ethanol to form ethanoic acid. Two
Hydrogen atoms are replaced by an atom of oxygen making oxidation of ethanol. Here
addition of oxygen is provided by potassium.

&TRIT KMNO4 T 3TardIaul Usic & §9 H R adl & Fife Jg TUEISH s
Sl & TIU qeilel 1 AT ST 81 & ISgroled WAV &l Sqedlel
HTrEIeROT Sellel dTel 3HerdiioTel & Teh YLATY] SaRT Ficenfid fohar Srem 1 @i
itedieteT &1 JfaRed TeRTA garT e fohar e g1

15. QOils on treating with hydrogen in the presence of palladium or nickel catalyst form fats.
This is an example of

Yafsge a1 Asa 3cRs & 3ufufa 7 gesioa & Ty soel e W dd aar
& ¥ H| Ig Ush 3¢8I0T ¢

a) Addition reaction/ S8 gfafehar

b) Substitution reaction/ IfaEATIT gfafear

c) Displacement reaction/ aTargs gfafsar

d) Oxidation reaction/ 3iTardiertor gfafsar

Fats are formed when oils are treated with hydrogen in the presence of a palladium or
nickel catalyst. Because hydrogen is added to oil by reducing agents palladium or nickel, this
is an instance of an addition reaction.

T 9 Seoidl § ol deil bl Yelf3Td a1 [dehel 300k Fr 3uTeAfd 7 g83ed &
ATY Sellol ThaT ST &1 Fifh Usic Jelfsdd AT e &l e Il gI8sielel &l
dol # SAIET J1aT §, I8 Ueh faRked gfafhar &1 s 3eexor g

P
R Ni |
R\Czc/ + Hy —> H—C—C—H
R~ S F Catalyst | |
F R
Vegetable Oil Vegetable fat

16. In which of the following compounds -OH is the functional group?
fArfafaa # @ e Jiffe 7 FicAs @ g 82

a) Butanone/ ECI@FT

b) Butanol/ a{ETI'HTH

c) Butanoic/ Eﬂ(\éﬁﬁ?
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d) Butanal/ ScTelel

Butanol has the suffix ‘ol’, thus -OH is the functional group of the compound.

Functional Groups are a particular grouping of components in which the distinctive chemical
reactions of these molecules are accountable.

A functional group in organic chemistry is a collection of atoms within molecules that bind
together to react in predictable ways. Examples of functional groups include the group
hydroxyl, ketone, amine, and ether.

SIClElel H T 'HITel' §, 38 YR -3N0a lfdteh &1 FrdicAs HAg Bl

HAIcHS HHE ehl & Uh AT THg § oaa g1 Uit i fafRise qamgi=es
gfafshard Satecs g

Frafeleh THA a0l # Teh HRiTcHS THE BT & o AT T U Harg
g Sl AT sl & YAl et & ToU Teh @y aied g1 SdicHs Hefgl &

3GIE0T 7 HeAE gIsaiaad, HIekd, 3 3R A anfad gl

Functional Prefix Suffix
Group
Carboxylic -carboxylic acid
1 Acid carboxy- -oic acid
2 Ester (R)-oxycarbonyl | -oate
Acid ;
3 Halide halocarbonyl- -oyl halide
4 Amide carbonyl- —carpoxamlde
-amide
5 Nitrile cyano- -nitrile
-al
6 Aldehyde formyl- —carbaldehde
7 Ketone OXO0- -one
8 Alcohol hydroxy- -ol
9 Thiol mercapto- -thiol
10 | Amine amino- -amine
Arene
11 (cyclic - benzene
arrays of
C=0)
12 | Alkene alkenyl -ene
13 | Alkyne alkynyl -yne
14 | Alkane alkyl -ane
15 | Ether alkoxy -ane
Alkyl
16 Halide halo- -ane
17 | Nitro nitro- -ane

17. Which of the following is the correct representation of electron dot structure of
dinitrogen?

fTfaf@a d @ Fia a1 Bagea & soacld sic =T &1 gar gfafaftca §2
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@ NN (b) IN2:N:
€ NN (d) NEEN:

Ans—d
In Nitrogen molecule, each nitrogen atom has 5 valence electrons and there is a triple bond
between the two nitrogen atoms. Thus, the correct electron dot structure is; :N::N:

SATSErSTel 310] H, Ycdeh ASgIolel WA # 5 3o Folacial gl 8 3R ar aArgeioret
WA & o Teh feuer dies BT &1 3§ TN, HEl Seldelel Sic HUT g; :NHN:

18. Pentane has the molecular formula CsH1z. It has
UeeT # 3uifdss gF C5H12 B IE &

a) 5 covalent bonds/5 TEEISTH T

b) 12 covalent bonds/12 Tg&dSTh &l

¢) 16 covalent bonds/16 TETATSTH eI

d) 17 covalent bonds/17 TgTATSTh TUT

PENTANE

A covalent bond is a chemical bond that involves the sharing of electrons to form

electron pairs between atoms. These electron pairs are known as shared pairs or bonding
pairs. The stable balance of attractive and repulsive forces between atoms, when they share

electrons, is known as covalent bonding./ m ST Teh IS S8 %’ ST
AT & A Folaclel SIS Tl & Tl gelarelal T TelT-Yald A giar &
o Solorclel AT 1 AT JIH AT HEY JIH & § A ST STl g1 WA &
e 3erseh 3R ITchReh dell T [EUT Helolel, STe T Solerclall al AT Ad ¢,
egdTalsh S8 & 9 H ST ST gl
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Covalent Bond

Unpaired

Sharing of Available
Valence Electrons

Valence Electrons

(070 —(010

Atom 1 Atom 2 Covalent Molecule
(Non-Metal) (Non-Metal or

Metalloid)

19. The correct structural formula of butanoic acid is

o i gy

G5

i
O—
(O)—1L

)
T
Loz

I
}
g

—QO—I I—
O T

e
i
—O—T T—
JI')—I I—J‘)—I T—
L
:

I
I_—
L

Ans—-d

Butanoic acid is a carboxylic acid with the structural formula CH;CH-CH.-
COOH. where -COOH is the functional group.

20. An electrical appliance has a resistance of 25 Q. When this electrical appliance is
connected to a 230 V supply line, the current passing through it will be:

Teh fdegel IUMIOT AT YIORIE 25 the &1 ST T§ fdegd 3UROT 230 T 3MYfct ofrset

¥ ST BIdT 8, Al 8 ATETH ¥ IR aTell TctAT gIam:
(a) 0.92 A

(b) 2.9 A

(c)9.2 A

(d)92 A
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Given: Resistance of the electrical appliance = 25 ohms

A voltage or the potential difference across the electrical appliance = 230 volts
Formula: Ohms law = V=IxR

230=1x25 1=230/25

1=9.2A

21. How much time will be required to perform 520 J of work at the rate of 20 W?

205seyg T & H 52031 A Hel & AU fohctell HHA grame
(a) 24s
(b) 16s
(c)20s
(d) 26's

Given :

« Work done by the body = 520 J
o Power of the body =20 W

Formula of power :
e P=W=T

= 20 = 520/t
=t =520/20
= t=260/10
=>t=26s

22. What do dolphins, bats and porpoise use
Sifehe], THINES 3R IRUISHE &7 AT 39T Hd &
a. Ultrasound/ 3TecIAT33

b. Infrasound/ S=ShTHTTeIeh
c. Both aand b/ A 3R B &=t

d. None of them/ 378 & @IS T gl

Animals such as bats, dolphins and porpoise send out ultrasound waves and use their
echoes, or reflected waves, to identify the locations of objects they cannot see. This is called
echolocation.

The sound frequency of ultrasonic waves is above 20,000Hz.
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THINES, SiTehad 3R RIS W AT Jecla3s dial & Joid & 3R 3
IEJIT & TUMEAT I IgleT A & TAT 3o1ehy 3T, A1 wfAfSfard aamm a1 3o
A & S T TE 2T Fohd &1 S IR FET ST &

Hegralfaeh aiel i eafel mgfa 20,000 88T & FW F

23. Which one among the following radiations carries maximum energy?

fArfaf@a Rfeol # & i 3R 3fOFar F3T o Jrar g2
(A) Ultraviolet rays/ GRTS9T=AT fehOT

(B) Gamma rays/ ImHAT fapTor

(C) X- rays/ x- fangor

(D) Infrared rays/ 3%hRRE IaT
THE ELECTROMAGNETIC SPECTRUM

Wave(l::tgefg Microwave: Infrared Visible Ultraviolet
103

102 107 5x100 108 10710 1012

About thW\N\/WW\N\W

Buildings Humans HoneyBee Pinpoint Protozoans  Molecules Atoms  Atomic Nuclei
Frequency
(H2)

104 108 1012 1015 1016 1018 1020
Temperature
of bodies emitting 3)
the wavelength
® 1K 100K 10,000K 10 Million K

The energy of an electromagnetic wave is determined by the formula E=Hv
Here H is Planck's constant and v is the frequency of the wave.

Hence Higher the frequency higher is the energy

Since gamma rays have the highest frequency, it has the highest energy

= 9 [ [=

24. A person cannot see distinctly objects kept beyond 2 m. This defect can be corrected by
using a lens of power

T egfeFd 2HIET @ M T a&g3i TS & F ¢ ¢@ Fehell g1 AfeFd &
o T 3YANT ek 39 Y &l Sk fohamT ST Gehalm g
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(a) +0.5D
(b) -0.5 D
(c) +0.2 D
(d)-0.2D

Solution: The required focal length of the lens 1/f=P
P=-1/2=-0.5D
A power of -0.5 Dioptres is required to correct the myopic eye.

25. Which of the following disease are transmitted from one person to another?
Pt S 3 ¥ Pl v R § gy A F TaRa a2
1. AIDS 3) Cirrhosis / fafaw

2. Hepatitis B / Ieheiily-B 4) Syphilis / wferd

Select the correct answer using the codes given below

A feU aTT e & FEET A FE Scck Gl

Codes

a)2,3and 4

b)1,3and 4

c)land2

d) All of these
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